ITI Wireman 1st Year Module 9 Domestic Wiring

(1). Which is the distance that the clips to be fixed on TW batten on horizontals

run in the batten wiring? | a's’@ﬁ:rltﬁ%a‘ﬁw S R T are faay ded
T ¥ afas & @it gt 82

(A) 8cm
(B) 10cm
(C) 12cm
(D) 15cm

Correct Answer : B

(2). Which type of wiring system requires special sockets or plug with fuse? | fog

THR B AR JOTc H TS o 1Y o= Hidve a1 Wil &1 HTa=aHhdl gid! 62
(A) Tree system | ¢ JUITcl

(B) Ring main system | 31 A= gome)

(C) Distribution board system | fadRUr 9IS HoTei!

(D) Looping from ceiling rose | Tt el I U

Correct Answer : B

(3). Which diagram represents the physical position of accessories in the wiring

installation? | TRI ! RITYAT & YETIP IUHRUN &I Hifds AT w1 ufaffa
DI BAT5?

(A) Wiring diagram | IR BT 3R
(B) Schematic diagram | TISIEG 3G
(C) Installation plan | RITYAT WAl




(D) Layout diagram | T3T3C 3RE

Correct Answer : C

(4). What is the recommended minimum height of socket outlet shall be provided
in the bathroom? | STUREH H Fidhe STICC B! SIRIRIT TAdH $HdTg &l
a1 B SITil?

(A) 130 cm

(B) 140 cm
(C) 150cm
(D) 200 cm

Correct Answer : A

(5). What is fusing factor? | WWW%?
(A) Current rating / Minimum fusing current | CREIGEIRE /WWW

(B) Minimum fusing current / rated current | WW@I‘T DHIC /?{ES PHC
(C) Maximum fusing current / Current rating | WWW/W I

(D) Current rating / Maximum fusing current | JaH e / G{WW
HC

Correct Answer : B

(6). Which wiring has to be planned and executed only during the construction of

building? | TfeE™ Fmfor & SR fora arafiar &t Ao s 3R 38 [ faran
SIGIE]

(A) CTS wiring | CTS araRT

(B) Casing and capping wiring | HIRAT HIUT IIAT




(C) Surface conduit wiring | TH Y ®IGeIC AN

(D) Concealed wiring | HalcS hIgSYC GIRRLl

Correct Answer : D

(7). What is the standard size of Gl earth wire in domestic installation? | ‘Eﬁﬁ
YT H 61 31 AR BT A MTHR GI'CII%?

(A) 8SWG

(B) 10 SWG
(C) 12 SWG
(D) 14 SWG

Correct Answer : D

(8). What is the name of conduit accessory? | WWWWW%?

(A) Solid Tee | gifers &
(B) Solid bend | TifcTs AIS
(C) Circular box | TIATHR Tl

(D) Couplers | CANE

Correct Answer : B




(9). Which type of accessory is used to operate a portable appliance? | gidad

3B &I TAIfeld B & 7T fh g UHR &b gD SUDBRUT b1 IUANT fhar
CIGIEE

(A) Controlling accessories | Hgldd SUHIT FAfd H1

(B) Safety accessories | G&T g 3UDRUI

(C) Holding accessories | BICS T TgTd® IUHU]

(D) Outlet accessories | 33calc ol SUD U]

Correct Answer : D

(10). Why the looping - back (loop in) method is preferred in domestic wiring

installation? | BRT AT RITAAT H GT-9% (U 34) Tafd &1 arufiredr o €t
ST 82

(A) More numbers of tappings can be taken | 3T T & T oft &1 Tpeil ©
(B) Easy to identify the faults | GISI o] TgAT 3T
(C) No joints in the through run cable | qwmﬁﬁéﬁh@ﬁ

(D) More number of sub circuits can be made | 31 T H 3T uRuY g1
o gehd §

Correct Answer : C



(11). What is the name of wiring? | WWWW%?

(A) CTS/TRS wiring | CTS / TRS aTIfRIT

(B) Cleat wiring | fade arafan

(C) PVC casing & Capping wiring | PVC HRAT 3R HithT IrRafaT
(D) PVC conduct wiring | PVC Waﬁlﬁ'ﬂ

Correct Answer : B

(12). Which range of megger is used for testing electrical installation? | ﬁ_c("ﬁ?[

TRITU & R80T & foT ATR &1 fhg Auft o1 SUuanT fhan S g2

(A) Same as supply voltage | @ﬂ'cﬂ%f dicesl o JHM

(B) Twice the supply voltage | @ﬂ'cﬂ%f dices 9 C:I‘\L"II
(C) Thrice the supply voltage | &nqﬁfaéﬁm?ﬂqw
(D) 1.5 times supply voltage | 1.5 T[T &ﬂ'{ﬁm

Correct Answer : B



(13). Why fuse cut out is provided at the incoming power supply? | 37T aret

foroTef! Syfd IR TS ®e 3i3c Hi e foar SiTar g2

(A) To protect the circuit from the leakage current | gfhe & Al B I
M & forg

(B) To protect the human being from electric shock | Wﬁﬁﬁ?ﬁ%%ﬁ
S & felg

(C) To maintain the stabilised supply voltage | fRRR \’rﬂ'q;ﬁd\lc%\vl Ca SEIY G-

EANY
(D) To protect the line from over loading | Fﬂ%zfﬁ W@%"T@Wﬁ%%ﬂ

Correct Answer : D

(14). What is equation for finding diversity factor? | fafaed wR® TioH %]%’I'Q
THIHROT T &2

(A) Minimum actual load / Installed load | YAdH GIESIBEE ‘J-I'N/WFEIHW

(B) Installed load / Minimum actual load | TUd |l / gAdH aRAfdD AIS
(C) Maximum load / Installed load | 3@ dH HR / RITUT HR
(D) Installed load / Maximum load | RITUd YR / 3f¥eHdH U

Correct Answer : A

(15). What is the megger reading in a dead short wiring installation? | G
RN SeTaRH | AR QST R 52

(A) 1MQ

(B) 50 MQ

(C) Zero MQ

(D) Infinity



Correct Answer : C

(16). What is the purpose of circuit diagram in wiring installation? | IR

TRITY A Ifdhe 3R BT I 157

(A) To show the schematic connection of the circuit for a specific task | foodt

fafry 1 & foru afche &1 FioHTag HaRM @

(B) To show the physical position of accessories | Wmﬁﬁ Wfas
fRyfa fomm & ferg

(C) To estimate the various accessories in the circuit | Wﬁﬁﬁ-ﬁw
JUDHRUI BT S{THH T
(D) To inform the reader quickly about the circuit | Ulod P gihe & IR A

QTEAT I Jferd BT

Correct Answer : A

(17). What is the maximum size of PVC conduit to make safe cold bending? |

Rie Pics §f ST M & forg tidiRft drege &1 siftiwdw R Fa1 82

(A) 20mm

(B) 25mm
(C) 32mm
(D) 40mm

Correct Answer : B

(18). Which is used as a filler material for fixing screw on ceiling and wall? | ifei

3R AR IR 5 e = & foTe fihear ameht & =0 H faraest STt fava
I 82

(A) PVC



(B) Rubber | ¥dS
(C) Paper | DI
(D) Nylon | EIPNIG]

Correct Answer : D

(19). What is the fusing factor of Rewireable fuse? | RarIRad Rl WUQI%FT
Uharex o1 GBIl 57

(A) 2.4
(B) 3.4
(C) 1.4
(D) 4.4

Correct Answer : C

(20). Which screws are used for fixing conductors to the accessories? | Hglddh

JUHRU B HEFeR T & o7l I W T BT SUANT fordT ST ]2
(A) Flat ended screws | ﬁ?ﬁ%aﬁaﬁ
(B) Socket screw | gihe Ud

(C) Wooden screw | Q'chsnl H1U

(D) Self tapping screw | %dbi%'qcbﬁzl CINIEE

Correct Answer : A

(21). What is the purpose of the flexible cords in domestic wiring? | ﬂiﬂ?‘l’l’\ﬁﬁ

T IR BT 35T T 8?
(A) Permanent connections | YT} HAIRH



(B) Temporary connection | 3T Ha=H
(C) Connecting transportable appliances | qﬁﬁ?‘ﬂﬁmﬁﬁﬁllg I
(D) Passing through walls | 3|5|R-|'@?!GI, <A

Correct Answer : C

(22). Which type of wiring system is suitable for multistorey building? | Hee eI

fafeET & o ford TR 1 arafi yormelt Sugad g2

(A) Tree system | <1 JUTTCl

(B) Ring main system | T 89 gumc!

(C) Distribution board system | faaR01 S8 YuITeh

(D) Looping out with junction box | SR ST o JTY (U 33T

Correct Answer : A

(23). Why separate wiring is recommended for home theatre wiring? | Eﬁﬂ |€|QE€

AR & forT SrerT ara T &1 SR -} 1 iTelt 82

(A) Avoid electrical interference | fdggd g&IaT I

(B) Maintain voltage level constant | @lecsl TR [RUR §91T T
(C) Reduce power loss | feoTelt BT & H &

(D) Avoid electrical fire | TSoTcl &1 3R &

Correct Answer : A

(24). Which type of light fittings are used for outdoor lighting purpose? | fg

UBR Dl ATSC hicT MTICSR TS AT B I & (01U SITIHTA HR T 87
(A) Bracket fitting | d1ge sdbe fbfen




(B) Bulk head lamp fitting | W%_S'a'q i
(C) Water proof light fitting | OIICQQ}FQ‘II'&CW"T
(D) Chain lamp fixture | o oY fhaRR

Correct Answer : C

(25). What is the expansion of TRS? | TRS Wﬁww%@
(A) Total Rubber Sheathed

(B) Tough Rubber Sheathed

(C) Tyre Round Sheathed

(D) Total rough sheathed

Correct Answer : B

(26). Which electrical accessory belongs to general classification of accessories? |

P T faggd IUQTE AT a7 & TRIRIS § 31TdT g2
(A) Pendant lamp holder | aé_da'qf?l@
(B) Intermediate switch | 3°E€111||3QE%?=[

(C) Fuses | WIS
(D) Ceiling rose | T I

Correct Answer : D

(27). What is the name of term that the time taken by a fuse to interrupt the

circuit in the event of a fault? | 3 RMeq b HTH H] %Gﬁwmﬁ@ﬁﬁ
ORTY BT ST 3 T RISl gRT Ford 11 994 g2

(A) Fusing current | WW




(B) Current rating | CREIERITR

(C) Fusing factor | WW
(D) Cut-off factor | HC-3Hh HRD

Correct Answer : D

(28). What is the equation for rupturing capacity of fuse? | Ryl Pl gc-ﬁ Pl &HdT

BT JHIHR T 82

(A) Fault current x Load current / 10°

(B) Fault current x Circuit voltage / 10°
(C) Fault current x Minimum current / 108
(D) Fault current x Load power / 10°

Correct Answer : B

(29). What is maximum power recommended to the light and fan sub circuit as

per IE rules? | IE IBREED SR olgc ﬁ?@%@ﬂﬁf%mw
3 UTaR &t RIwIR= &1 3

(A) 3000 watts
(B) 1500 watts
(C) 800 watts
(D) 750 watts

Correct Answer : C

(30). What is the effect if low current rated cable used to connect higher current

load? | Tf¢ I YRT UR DI Slie & [olT HH YRIRCS Had BT 3TN fhar Sl
ol T THTG TS TTT?



(A) Cable damage due to heat | Tﬂﬁ%WWW@W

(B) Voltage drop decreases | alecol EzlJ'q h Y ﬁ Sildl %

(C) Load current increases | AlS dHIC dedl %

(D) Voltage drop increases | diee ol \§TH de SIIdI %

Correct Answer : A

(31). What is the length of thread on right conduit as per BIS? | BIS & SR
3 H S R IS B daTs [ha-1 gl 87

(A) 11mm-27mm

(B) 9mm - 20mm

(C) 13mm-25mm

(D) 15mm - 30mm

Correct Answer : A

(32). Which type of accessories, the fuse comes under? | WWW@

VIR & 3fdiid 3T g?
(A) Controlling accessories | ﬁuawﬁmtﬁi?&r
(B) Holding accessories | Eﬁ%ﬂa@ﬂf\’?ﬂ

(C) Safety accessories | ﬂ?&ﬂﬁ@w
(D) Outlet accessories | &IBE@EQ@G’R’G{

Correct Answer : C

(33). What is the purpose of under writer’s knot for pendent holder connection? |

UST gIte HaRM & folY I8 AZex Hic BT I AT 8?




(A) Reduce the strain in the accessory terminal | Wzﬁhﬁﬁ d1d HH B
(B) Prevent excessive cap cover pressure | W%WW@%
(C) Increase mechanical strength | WWW’&

(D) Avoid loose connections | eI HaRE I g

Correct Answer : A

(34). What is the name of PVC conduit accessory? | PVC WWWW
T g?

(A) Solid elbow | TISTS Teall
(B) Solid TEE | Tifere ¢

(C) Solid bend | TITIS &S
(D) Coupler | HUTR

Correct Answer : B

(35). Which factor is to be considered for selection of supply (Single (or) 3 phase)

for wiring? | W%%‘Iﬂ HLﬂl'ér% Y- (ﬁi"’lﬁ (gn 3%%%@%%@
faR fear ST 82

(A) Connected load | FH-acs Al




(B) Type of building | AT BT UPR
(C) Type of wiring system | IR YOIt T UhR
(D) Size of cables | hEd BT HHR

Correct Answer : A

(36). How many numbers of single way switch and two way switch are required

for Hostel wiring with 3 lamps? | ‘s’”%aawﬁﬂéﬂ%m 3 U & I RiTTer 99 ke
3R ¢ 3 Raa & T T SHTa=ad g2

(A) 2 single way & 3two way | 2 RFT@d 3iR3¢d
(B) 4single way & 1two way | 4 RITId 3R 13
(C) 1single way & 3 two way | 1 RITA I 3fR3¢3
(D) 3oneway&2twoway | 3399 3fR2¢d

Correct Answer : C

(37). What is the minimum bending radius of conduits? | Wﬁﬁw
g & s 1 82

(A) 1.5cm
(B) 2.5cm
(C) 7.5cm
(D) 9.5cm

Correct Answer : C

(38). Which conduit fitting is used to join additional conduit pipe in long run of

conduit wiring? | I 7 ATeh fopfeT ATeht IRY & ofe gHT | arl%rhaa:lﬁqm
M B o fore g fora ST g2



(A) Bend | b
(B) Elbow | PIg-l
(C) Tee | Tl

(D) Coupler | HYER

Correct Answer : D

(39). How many light, fan and 6A socket outlet points are recommended for a

sub-circuit as per IE rule? | IE IEpEE SR 3U-gfdhe %mmﬁﬂﬁ_@ S EC|
3R 6A Tldhe AT3edle Ulge i RIBINT B it 82

(A) 7 Nos

(B) 10 Nos
(C) 12 Nos
(D) 14 Nos

Correct Answer : B

(40). Which type of lamp holder is used for the lamps above 300 watts? | 300 dIC

AFWR S AU P [T f6g UpR & U gicgR BT SUANT fobar Sirar 82

(A) Edison screw type holder | QI%FFI Ud TR URP

(B) Screw type holder | Ud ThR URE

(C) Bayonet cap holder | ST $U YRS

(D) Goliath edison screw type holder | Miferay TSI P YD R YRD

Correct Answer : D

(41). Which is the minimum size of copper wire,used for lighting circuit? | algléll

fdhe & fore ST farT ST aTd HIUR IR &1 =LA STHR I 1 62




(A) 1sgmm
(B) 1.5sq mm
(C) 2.5sgmm
(D) 4sgmm

Correct Answer : A

(42). Which is used to bend conduits? | Wﬁﬁﬁ@ﬁ%ﬁﬂmm
fopaT STaT 82

(A) Anvil | Ffad
(B) Pipe vice | UIRU dI{
(C) Hickey | feaep!
(D) Bench vice | 8 AT

Correct Answer : C

(43). What is the name of wiring if one lamp controlled from two different places?

| TS TP EUD Bl Gl -3 RIFT I Frafd fvar Sar g, df ari &1 or =
a?

(A) Godown wiring | TTIST3 ATaNAT
(B) Tunnel wiring | 9T aIIIAT

(C) Stair case wiring | Hig! arafa
(D) Hostel wiring | BIRed IR

Correct Answer : C



(44). Which diagram indicates the ‘Up’ and ‘Down’ cable run and number of wires
in the run? | Thd SR & /310 3R SIS Had 3 3R T H IRI &1 W& A1
FRATB?

(A) Installation plan | RITGAT o7
(B) Layout diagram | T3MT3C RE
(C) Circuit diagram | gfhe Mg

(D) Wiring diagram | AR BT =T

Correct Answer : B

(45). Which wiring can be done either on surface (or) on concealed in the wall? |

®IH I AN SIaR 1 qdg IR (A7) SAR U ISt g5 1 ol Yabell g2
(A) Cleat wiring | Iqilc araRIT

(B) Batten wiring | Se= TR

(C) PVC conduit wiring | PVC hagc arIiRT

(D) PVC casing & Capping wiring | PVC BRI 3R St arafear

Correct Answer : C

(46). Which lamp holder is used up to 200watts? | 200 mwmﬁma@
BT I fohaT STaT 82

(A) Goliath Edison screw type holder | mferay QI%FI:I ¥ YD YR
(B) Edison screw type lamp holder | Q%ﬂ:l @Wé’q YRdH
(C) Bayonet cap lamp holder | ST $U AT YRS

(D) Screw type lamp holder | U9 U R AT YRS

Correct Answer : C



(47). Which type of conduit used for gas tight explosive? | %WW%
foTe ford TR & AT &1 SUURT foean SITaT 82

(A) Light gauge rigid steel conduits | dI<C TS B R T ATcl

(B) Rigid non metallic conduits | Wﬁ? WW

(C) Heavy gauge screwed rigid steel conduits | Hﬁrﬁ\—:rﬁwaa—oﬁ?&ﬁaﬂﬁ
(D) Flexible conduits | ?ﬁﬁ?ﬁw

Correct Answer : C

(48). What is the name of wiring system that enables the appliances connected to

the system to have the same voltage? | WWWWW%@W@
TS TRy &1 UM diees] & fold W& §-1d1 g2

(A) Distribution system | %@WW

(B) Tree system | ?ﬁEI'UI'IF‘ﬁ

(C) Ring main system | 1 89 ot

(D) Looping out from switch | %ﬁﬁ?ﬂﬁ"’[ 3HI3C

Correct Answer : A

(49). Which type fuse is used for power installation above 80KA? | 80KA TSHR

& faggd RITIT & Y ford TR o TS 1 SUANT o STl g2
(A) Low rupturing capacity | W@ﬁﬁ &HAI

(B) High rupturing capacity | W@Eﬁﬁ&m

(C) Rewireable fuses | WW

(D) Ferrule contact catridge fuse | WWWW




Correct Answer : B

(50). How many outlet points are recommended in power sub-circuit as per BIS? |

foh UTEc B BIS & TR UTAR Ya-Afare # RIBTRR #%d 82
(A) 1 point
(B) 2 points
(C) 3 points
(D) 4 points

Correct Answer : B



